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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, which statement is correct? 

A. The router is acting as the DR. 

B. The router is acting as the BDR. 

C. The router is acting as a DROther. 

D. The router is not able to establish an adjacency. 

Correct Answer: C 

 

QUESTION 2

Click the Exhibit button. 

Referring to the exhibit, the IRB interfaces are configured with which family? 
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A. irb 

B. ethernet-switching 

C. inet 

D. l3-interface 

Correct Answer: C 

 

QUESTION 3

Click the Exhibit button. 

You are trying to form an IS-IS adjacency between Router A and Router B, but the IS-IS adjacency will not form
between the two routers. 

Referring to the exhibit, which action would solve this problem? 

A. Enable level 1 IS-IS routing on Router A. 

B. Enable IS-IS wide metrics on Router A. 

C. Enable level 2 IS-IS routing on Router B. 

D. Enable IS-IS wide metrics on Router B. 
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Correct Answer: C 

 

QUESTION 4

Click the Exhibit Button. 
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Referring to the exhibit, which two statements about the BGP connection are correct? (Choose two.) 

A. The local device has AS 100 configured but the peer is expecting AS 101. 

B. This is an EBGP peering session. 

C. This is an IBGP peering session. 

D. The local device has AS 101 configured but the peer is expecting AS 100. 

Correct Answer: BD 

 

QUESTION 5

What are two Layer 2 firewall filter types? (Choose two.) 

A. port-based 

B. packet-based 

C. flow-based 

D. VLAN-based 

Correct Answer: AD 
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